Category V+jets (£ fit)(£ alt) tt, t Total exp. events Data

Hp (1, 38+7+12 37.8+0.6 76 =14 78

Wregion ThTh 13.0£3.24+0.2 16.0 £1.8 29.0+£3.7 45
LP {1y, 1053+6.8+9.0 342409 140+ 11 120

ThTh 27.0+33+3.0 123 +0.6 39.3+45 37

Hp 1y, 399+61+79 424+1.0 82+ 10 82

Z region ThTh 13.7+3.0+2.5 18.0+1.8 31.6 4.3 33

Lp Ty, 735+48+6.1 291+19 102.6 = 8.0 92

ThTh 19.1£234+25 104 £0.8 29.5+35 33

2b tag (1, 244+09+04 6.9 £0.6 92+1.2 10

H region ThTh 1.1+£0.6+0.1 38+1.8 49+19 5

1b tag {1y, 29.3+35+6.6 373+1.2 66.6 +7.5 56

ThTh 11.5+£224+26 154+1.7 26.9 +3.8 23



